INOZEF KA EEE T ##Bh)

T ER: ¢150

L)

No B () MABEERMmM |[REZE(n £ ﬁﬁ%ﬂc : =
wE gy E3TEVN mE#&
10 1.15 1.79 1.79 AFLESR| 140 Co0350 MTRAE&
1 0.94 2.45 2.45 ANFLERT| 120 Co0500 MTRh
13 0.83 2.35 2.35 250 1.41 Co500 MTHEE
14 0.83 2.35 2.35 250 1.41 Co500 MTHEE
15 0.97 2.02 2.02 250 1.41 Co350 MTHEE
16 0.90 1.97 1.97 250 1.41 Co350 MTHEE EA
17 0.78 2.40 2.40 250 1.41 Co500 MTHEE
20 0.86 2.95 2.95 250 1.58 Co500 MTHEE EA
22 0.75 8.38 8.38 900 1.27 Co500 MTHEE
23 0.90 8.41 8.41 900 1.27 Co500 MTHEE
24 0.76 8.43 8.43 900 1.27 Co500 MTHEE
27 0.90 5.29 5.29 900 1.13 Co500 MTRHEE EA
28 0.92 5.44 5.44 900 1.13 Co500 MTHEE EA
29 0.88 418 418 900 1.13 Co500 MTHEE
30 1.00 410 410 900 1.13 1855 MTHEE
32 0.94 3.81 3.81 900 1.13 Co500 MTHEE
33 0.94 3.95 3.95 900 1.13 Co500 MTHEE
49 1.17 468 4.68 500 1.38 Co500 MTHEE EA
50 1.00 467 467 500 1.38 Co500 MTHEE
51 1.10 458 458 500 1.38 Co500 MTHEE
52 1.08 493 493 500 1.38 Co500 MTHEE
Ty 0.93 424 4.24 1.30
At 21 &
RIK BT E B T[4 En]
T ER: ¢200 e _
v [pms |l e T e g | wEE |
25 0.83 8.56 8.56 900 1.27 ME5500 | BfTE D H
46 0.92 4.80 4.80 500 1.55 LA HRAHE D H
47 0.90 472 4.72 500 1.55 LA Mt EDH | MRwEE
48 0.88 4.02 4.02 500 1.38 LA Mt EDH | MRwEE
Ry 0.88 5.53 5.53 1.44

& t 4 @m




INOEFKBEGEREBL[HE)

T ER: ¢150

L)

= 2
v [mms | e T Ee g | wEE |
1 0.97 2.40 240 250 1.19 Co500 MTRhEE
2 1.03 1.73 1.73 250 1.19 Co350 MTRhEE
4 0.96 1.79 1.79 250 1.19 £%500 MTRh %
7 1.05 1.80 1.80 250 1.30 Co350 MTRhEE
8 0.83 2.55 255 250 1.30 Co500 MTRhEE
9 1.00 1.84 1.84 250 1.30 Co350 MTRhEE
18 0.94 2.96 2.96 250 1.28 Co500 MTRhEE EN
19 0.90 2.92 2.92 250 1.28 Co500 MTRhEE
35 0.93 3.55 3.55 250 1.26 Co500 |ERftEDH
36 0.74 3.35 3.35 250 1.26 Co500 MTRhEE
37 0.85 3.03 3.03 250 1.26 Co500 MTRhEE
38 0.72 3.26 3.26 250 1.26 Co500 MTRhEE
39 0.69 2.87 2.87 250 1.26 Co500 MTRhEE
41 0.73 3.08 3.08 250 1.41 Co500 MTRhEE
42 1.05 417 417 250 1.41 Co500 MTRhEE
44 0.75 3.20 3.20 250 1.41 Co500 MTRhEE
Ty 0.88 278 278 1.29
&% 16 HMT
KR EREI[HE)
{TER: ¢200 - -
No | iRsr) [ e AR g BT
6 0.93 2.55 255 AFLESRT| 120 Co500 |EftEDH
34 0.93 3.42 342 250 1.26 LB  |ERFEDOH
40 0.75 3.20 320 | AFLEfT| 1.05 LB B EDH
Ty 0.87 3.06 3.06 1.17
A5 3 &
MR EREI(EE]
BTERE: ¢150
o REEZEREM |[AER@Mmn Bz K
No PR E(m) rrges e T#H,Y(m) =TS DEE e
3 1.00 2.40 250 1.19 EN W=
5 1.20 1.72 AFLEST| 130 Co0350 B=
12 0.99 1.91 250 1.41 %500 W=
21 1.00 3.20 900 1.27 EN W=
26 1.00 5.20 900 1.13 EN W=
31 1.00 2.80 900 1.13 EN W=
43 1.00 4.10 250 1.41 EN W=
45 1.07 383 500 1.55 %500 W=
Ty 1.03 3.15 1.30
A5 8 &




O EFEKBERAMAE R L

Jitt T3

2, 33,49,50,51,52

10,11,13,14,15,16,17,20,22,23,24,27,28,29,30,3

FAKE R T (ZR5-9) [#i8h]

Wr i X
BRI 11 BT EER L1 .24
[P &HAEE 12 I
T i
I
o 1 [3e)
(1= ! S
— o™ I
jan) T |
o i
= = .
=4 s !
o | i
%% i
i
I
|
TRHIER L2 4.24
SR IE R L3 4.24
= . _____ -
\_&_E[L
2 o o
=
= |2 L C S
=
#
g - | ——

FEHEIE w2

¥ & &R mmyy)

HufH ¢ 150 RGO ¢ 250~900
BER Cott ¢ 500
SIEHERK (AT ) No.2000 % (B
B BRIFEASC 0.05 FE ERIFEASC 0.05
RS M-30 0.15 T e o) | 010
TrE i RC-40 0.35 g M-40 0.20
TrE s RC-40 0.25
M (RC) {1.17-(0.05+0.3+0.3+0.165) } X 0.7 X 4.24=1.051%
HE (M) 0.3X0.7X4.24=0.89 1
+ T
SRR IR h = ( 140 + 093 )/ 2 = 117 m
A1 (k) {( L17 - 005 )X 070 X 424 }/ = 1.66
A (A7) {( L17 - 005 )X 070 X 424 }/ = 1.66
R () ( 030 +/ 0165 ) X 070 X 424 = 1.38 ied
R (RC) (20iF72) {117 - (005 + 015 + 030 + 0.165 )}
X[ 0.70 X 424 = 1.50
HEE (M) (0fifTs) 0.15 X 0.70 X 424 = 0.45 f
FEAE ALy 1.66 + 166 = 3.32 n
ComtilL sy 0.12 n
T pE L5y 4.24 X 31.30 /| 1000 = 0.13 nf
ShEE R 424 X 2 + 100 X 1 = 948 m
SHEE R (B 424 X 1.00 -/ 038 = 386 of
AsiRiLsy 386 X 0.05 = 0.19 nf
SRS RAE IR OnEh) 4.24 X 1.00 = 4.24 nf




MoK B B A B IR T i T4 7 95 46,47 A8 TR % T (<R5-9) L]

¥ & R mmyy)

[*ﬁﬁ A Wi 0% 6 200 =R ®  500~900
BERX Cotht ¢ 500
MR 1 | 0.05 WAEEE L1 [553 EHAERERK (AT
B 2 [70.05 ' | —
nHER 2 [ [ g BERIEASC 0.05
: T ]
T : " | £ LA M-30 0.15
< | f= 1 e YU
| %
: i Vg E TR RC-40 0.35
. | 2%
_ | “Ji‘
ol = i I <
Sl Y |
HE | 's
= | H I Y ;
o | :
it 34 | I
b i !
| |
R ' ! + T
— |
i ST h = (154 +708 ) /2= 121 m
i et () (et -5 ) x[ om0 x[ss8 )/ 2 = 295w
i
i s ) {( 121 - 005 )x 070 x 55 1}/ 2 = 295 i
NP3 .
- i B () ( 030 + 0216 ) x| 070 x| 55 = 200 i
NIEE 12 = | M (RC) {121 - ( 005 + 015 + 030 -+ 0216 )}
x 070 x| 558 = 191
SR IE R L3 5.53
HR M) 0.15 X 0.70 X 553 = 0.58 nf
[ St et e — 1 Sk LGy 295 |+ 295 = 450 i
= N _
[aN]
i [ =
2 o o
=
Il L C ; i HEME Sy 553 | x| 3780 /1000 = o021 of
H I "
b = | —— AHEERR B 5563 X 2+ 1.00 X 1 = 12.06 m
SHEERRO R (AR 553 X  1.00 = 553 nt
AsERILAY 553 X 005 = 028 n

HEERE IR g 5,53 X 1.00 = 553 ot




O EFEKBERAMAE R L

Wr i X
A S I=]
AT 11 RitEER L [Z08
IH&HAEE 12 I
T i
I
A 1B i &
] | ) | o
— o™ I
jan) T |
%S |
I |
= jﬁ !
gl I
%% i
i
I
|
TRHIER L2 2.78
B IE R L3 2.78
= o ____ -
E
2 o o
[ 1S
= |2 L C S
B
#
g N | ——

FEHEIE w2

i L85 1,2,4,7,8,9,18,19,35,36,37,38,39,41,42,44 | FAGES R T9 (AR5-9) [ H# ]
BB Rasmyy)
HufH o 150 AE DR o 250
BER Cotht ¢ 500
SRIERR AL (AT No.18,19007 (BIHE)
FE BRIEEASC 0.05 FKIE FERIEASC 0.05
g M-30 0.15 (z'iffffﬁﬁfﬁ?%l) 0.10
TR RC-40 0.35 LB M-40 0.20
TIE#AE RC-40 0.25
R (RC)  {1.13-(0.05+0.3+0.3+0.165) } X 0.7 X 2.78=0.61 1
R (M) 0.3X0.7X2.78=0.58 i
+ T
SRR h = (139 +/ 08 )/2= Ll4 m
HHI (k) {( 114 -1005 )X 070 X 278 }/ = 1.06
PR (A7) {( 114 -1005 )X 070 X 278 }/ = 1.06
R () ( 030 +/0.165 ) X 070 X 278 = 0.90 o
HLE (RC) (14674 {f 114 - (. 0.05 + 015 + 030 + 0.165 )}
X070 x| 278 = 0.92
HIE (M) Q4fipis) 0.15 X 0.70 X 278 = 0.29 m
FEAE MGy .06 + 1.06 = 2.12 m
Comehle 53 (15837 43) 0.11 nt
LR LSy 2.78 X 31.30 /| 1000 = 0.09 nf
i R G e 278 X 2 + 100 X 1 = 656 m
SRR (BEAR) 2.78 X 1.00 -/ 038 = 240 nf
AsiBALSY 240 X 0.06 = 0.12 m
BEEE 1R OingL) 2.78 X 100 = 2.78 nf




RN 7K 9 B A B B T i T 6,34,40 KRS T 3 (AR5-9) [ ]
0 T o E RugHY)
Wi 0% ¢ 200 A O ¢ 250
BERX Cotht ¢ 500
S o | WitEiEs 11 [3.08 | EHIERERK (AT
friniss 2 L0051 | ! #JE ERIEASC 0.05
: T 7
T ! " $ 2 FIEEAE M-30 0.15
SNE i bz - TIE#A% RC-40 0.35
i ! s
T|g i I S
1F i |
ﬁ H [ A A i
o | i 1
®| = i !
i !
i i + T
— i
i SEEHR AR h = ( 121 + 087 )/ 2 = 1.07 m
i e () o7 -l005 ) <[00 x['806 )/ 2 - 109 oni
i
i L] (A7) {( 107 - 005 )x 070 x| 306 }/ 2 = 109 i
N7 .
- I R () ( 030 + 0216 ) X 0.70 X 3.06 = 1.11 nt
WEIEE L2 0 | 5 (RC) {(F1.07 - ( 005 + 015 +| 030 + 0216 )}
xl 070 x| 306 = 076 o
SRR L3 3.06
HR M) 0.15 X 0.70 X 3.06 = 0.32 ot
R N e T 1 A Sy .09 + 1.09 = 218 ey
= I T
= | g HEN Gy 3.06 X 87.50 / 1000 = 0.1l i
£18 I 2| =
“Eﬁ* € | Sl = LR BT 306 x 2 +/ 100 x 1 = 712 m
& l =
= I | —— SHEERRO R (FAR0) 3.06 X 1.00 = 3.06 nt
F e N 506 <005 = o015
EEEE 1H OEY 3.06 X 1.00 = 3.06 ot




P B E T (¢ 500 )|iETsHm 3,5,12,21,26,31,43,45 Tk R T % (AR5-9) [ H4%]

¥ B Fammyy)

s % .
l*ﬁ@ HfHE ¢ 150 A O ¢ 250~900
iR o1 | 0.05 || WERAEEE L1 [3.15 ! MR RK (AT
AgEE
HASEIZ 12 EJF BRIEASC 0.05
]
o LEkgE M-30 0.15
jan)
S Ol B
== & TIEEAE RC-40 0.35
=
| i
Tz <4
% o
3=
= | H
| &
®
+ T
R RS SETIEIRES h = ( 140 4+ 1.03 )/ 2 = 122 m
et (Ftn) {( 122 -005 )X 070 X 315 }/ 2 = 1.29 m
I@ 7 et (A7) {( 122 -005 )X 070 X 315 }/ 2 = 1.29 e
A X
MR (RC) (122 - 005 - 015 )X 070 X 315 = 225 m
HVEE L2 3.15
HR M) 0.15 X 0.70 X 3.15 = 0.33 n
BRI R L3 3.15
FA Ly 1.29 + 129 = 258 m
T 7 CowkilLsy 0.12 n
=
E S ESTEY I 3.15 X 3130 / 1000 = 0.10 nd
= lo
512
:% - EEERR I 315 X 2 +/ 100 X 1 = 1730 m
K
pics SRR (R 3.15 X 1.00 = 3.5 o
ALY 315 X 0.05 = 0.16 m
0.50
SRR 1R OnEY 3.15 X 1.00 = 3.15 o

¥
>
S

i




T il i ¥ P A O
EWNav) - EEE LT 1.0X0.8X%0.05 0.04 m
ENays)-ME IR T 1.0X0.8X%0.05 0.04 m
SMAlRR  FERR 15cmfE A
X R T i LT - 1~20, 45~52
1. 00m X 28f& i 28.0 m
bR MR 15emiE K
i TAEPT : 22~30, 32, 33, 42, 43, 45, 48, 52
1. 00m X 16f& ff 16,0 m
fZIEMR FEAR 45emiE A
i TP« 44
2.80m X 17T 2.8 m
RH - F05 - T 15emffE A
N 2B HE TEAT 18, 19 5.00 m
A Y~—2r FE LT : 37,39 2.50 m
7 7.5 m
T — bk
EXETE SN Wi TfEPr:1,3,6,8,11, 13, 14, 17
ME1. 20mfE & 1. 00m X 8f& 9.60 i
e T Fr:2,4,5,7,9, 10, 12, 15, 16
& 1. 00mfE: & 1. 00m X 9f& Ff 9.00 ni
JiE T & 7718, 19, 20
&0, 75mfE & 1. 00m X 3f& 2.25
E 200 m




T B M B H B E X

I %= & . FKEEHRTE(XR5-) - R 20.45.46.47
TEME [ LIEFR|H & @[/ xes/oes|0im Ha| Gmom |2 5~ H] See m | faire |8  SlEmaels o

I m | Lm | L ne (B) n (B) N Sy () S (M) H W (1) A (m®) (M)

1.bm
2.0 m
2.5 m
mEt2 | 3.0m
3.5m
4.0 m
4.5m

JEEY QY PEENY PUNIY ENY PUNEY PR

B il [ [ I I I I I I I I
X IR RELIER|H & =])- R emees|H 0 M| BHEIS B8 t- B] 2Ee t MIL® = EE R R A= P3|
T m | LCm [ L m]| n (8 |n @ N S, () S (M) H W ) A (7 )
1.5m
2.0m 4.00 1 1.6 7 0.2 8
= o 2.5 m
3.5m
4.0 m
& i 400 | | | | | | 0.2 | |
X KR0S : 0.25m/# . RE=: 10.4kg/m - ¥
% %IIIEIEE H & &|)—<ns/nez|lE M HB|A o 5 [T E A B BRI
X Cm [ L, W[ n, (H) [ n (B) x) (A/% - B) (/) /A8 ] () ()
1 B 4.00 1 1.6 7 2
KEHR—F 2 EX
3 B -
1 B 4.00 1 1.6 7 1
7ILIEREL] 2 B
3 B
KEro J| . — — — — T
B =11 I I I I I I I I I
FERAES N = 1 (BEEHLEEROH) BETEEE = (Sy*xn+S*xH) %A S, = HWEEH - BEWE(7AE)
#EB% :n=L / Ly * ng BEfXiREN = (Syxn+8) xW
WIER:H=(N+1) /2 BEBSHLEFROH) TEIEMER = (Sy*n+S8) *HxD



